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> most appropriate answer for each term. [p.386]
. Liverworts, hornworts, and mosses

Seed-bearing plants that include cycads, ginkgo,
gnetophytes, and conifers

. Whisk ferns, lycophytes, horsetails, and ferns
. A group of plants that bear flowers and seeds

In general, a large number of plants having internal
tissues that conduct water and solutes through the
plant body
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Choice

For questions 6-15, choose from the following: [p.508]

Labeling

Identify the cell types and cellular structures in the accompanying illustrations by entering the co
in the appropriate blank. Complete the exercise by identifying the complex tissue (xylem or phloem
which that cell or structure is found. [all from p-509]

a.parenchyma  b.collenchyma . sclerenchyma

Patches or cylinders of this tissue are found near the surface of lengthening stems:
Cells have thick, lignin-impregnated walls

Cells are alive at maturity and retain the capacity to divide
Some types specialize in storage, secretion, and other tasks
Cells are mostly elongated, with unevenly thickened walls
Provides flexible support for primary tissues

Supports mature plant parts and often protects seeds

Cells are thin walled, pliable, and many sided

Mesophyll is specialized for photosynthesis

Fibers and sclereids [p-502]

16. ( ) 16 one 19
17. ( ) member
18. ( ) &
19. ( ) (C;:Le)
20. ( )
21. ( )
2 ( )
23. ( )
24 ( )
a Portions of b Portion of
three 18 one 20
Matching o o
Choose the most appropriate example for each modified stem. [p.546]
10. bulb A. Potato
T ——— sy
12.__ tuber D. Onion, lily
13 S— E. Bermuda grass
14. corm
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Matching
Choose the most appropriate answer for each term. [all from p.507]
6. secondary growth A. Represented by a lengthening of sten
" » originating from cell divisions at api
Fe vascular cambium and cork cambium B. Localized regions of dividing cells
8. meristems C. Cell populations forming from apical
i . include protoderm, ground meristem,
9 apical meristems procambium
10. primary growth D. Lateral meristems giving rise to, respec
" : 3 secondary vascular tissues and a sturdig
11 primary meristematic tissue

Choice

For questions 3441, choose from the following fruit types. [p.542]

35 bt
36! L=k
37. 22
S8 .
. S
| —
4 -

covering that replaces epidermis
E. Represented by a thickening of stems
caused by activity of the lateral meriste
Located in the dome-shaped tips of all
roots; responsible for lengthening those of

a.simple dry dehiscent b, simple dry indehiscent  c. simple fleshy fruits
d. aggregate fruits  e. multiple fruits ~ f. accessory fruits
pineapple
nuts, grains
raspberries
grapes, tomatoes
apples, pears, strawberries
sunflowers and carrots
oranges

peaches, cherries, and other drupes
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[p.518] bark

[p.518] periderm

[p.518] cork

[p-518] heartwood

[p518] sapwood

[p-519] growth rings

[p.519] hardwood

[p.519] softwood

Matching

Choose the most appropriate answer for each term.

AL

12 tree rings [p.519]

2. heartwood [p.518]
3 sapwood [p.518]
4. early wood [p.519]
5. nonwoody plants [p.516]
6. woody plants [p.516]
% softwood [p.519]
8. bark [p.518]
9. cork [p.518]
10. late wood [p.519]
35 biennial [p.516]
12. annuals [p.516]
13. hardwood [p.519]
14. perennials [p.516]
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. Complete the life cycle in a single growing season and

. Another term for herbaceous plants
. Produced by conifers that lack fibers and vessels in thei

. Term applied to the wood of dicot trees that evolved in
stemperate and tropical regions; possess vessels, tracheids,

. A dumping ground at the center of older stems and roots

. Secondary growth located between heartwood and the

. Plants that add secondary growth during two or more

Produced by cells of the cork cambium
Includes all tissues external to the vascular cambium
Alternating bands of early and late wood, which refl
light differently; show secondary growth during two oz
more growing seasons

generally herbaceous

The first xylem cells produced at the start of the growings
season; tend to have large diameters and thin walls

xylem

and fibers in their xylem

Produced by some monocots and many dicots; they put
on extensive secondary growth over two or more growin,
seasons

Formed in dry summer; has xylem cells with smaller
diameters and thicker walls

for metabolic wastes such as resins, oils, gums, and
tannins
Plants such as carrots that live for two growing seasons

vascular cambium; wet, usually pale

growing seasons
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9. What is a tree farm?

0. Define deforestation.

ldfaced, Page-Referenced Terms

8. ANGIOSPERMS — THE FLOWERING, SEED-BEARING PLANTS [pp.398-399]
9. SEED PLANTS AND PEOPLE [pp.400-401]

ected Words: “double” fertilization [p.399], “vegetables” [p.400]

mples of eudicot plants
8]

. Orchids, palms, lilies, and grasses, including rye,

sugarcane, corn, rice, and wheat

. Unique angiosperm reproductive structures
. Insects, bats, birds, and other animals that withdraw

nectar or pollen from a flower and, in so doing, transfer
pollen to its female reproductive parts

. Among all plants, unique to flowering plant life cycles;

one sperm fertilizes the egg, the other sperm fertilizes a
cell that gives rise to endosperm

. Most herbaceous plants, such as cabbages and daisies;

most flowering shrubs and trees, such as oaks and apple
trees; water lilies and cacti
Black pepper plants, avocados, nutmeg, and magnolias

Plants 271
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Part A: Match the term to the correct definition.

1. Eudicot b. Mycorrhizae c. Vascular Cambium
d. Apical Meristem  ¢. Cork Cambium  f. Lateral Meristem
g. Xylem h. Phloem i. Endosperm

. Stomata k. Guard Cells L. Radicle

m. Epicotyl n. Hypocotyl o. Fruit

p. Mesophyll q. Parenchyma . Collenchyma

___ 1. The opposite of monocot.

___ 2. This will become the shoot of the plant.

___ 3. Transports water and minerals.

4. Ripened Ovary.

5. This will become the carly leaf of the plant.

___ 6. Poorly differentiated cells that can store starch.

___ 7. Where photosynthesis takes place in plants.

___8.Cells found in young parts of the plant that are still growing.

___ 9. Controls the opening and closing of the stomata by K+ uptake.

___10. Carries the products of photosynthesis from source to sink.

___11. Gives rise to protective tissue only found in woody dicots.

_12. The first part of the plant embryo to emerge during germination.

__13. 3n food source for the early embryo due to double fertilization.

___ 14. The pore in the leaf surface that allows for gas exchange and transpiration.
___ 15. Tissue allows for vertical/ primary growth.

___16. A fungus that increases surface arca for more water and mineral absorption.
___17.Gives rise to phloem and xylem.

" 18. Growth of the tisfue is suppressed by high levels of auxin, apical dominanc




